Int(lnt(x"2+y"2+x*y, x=-1..2),y=-2..3)=int(int(x"2+y"2+x*y, x=-1.
.2),y=-2..3);
. 215
J [ (x2+y2+xy)dxdy=—
-27-1 4
Int(lInt(exp(x”2),x=y..1),y=0..1)=int(int(exp(x”2),x=y..1),y=0.
1)
|| aar=
Joy 2
Int(lInt(exp(x”2),y=0..x),x=0..1)=int(int(exp(x"2),y=0..x), x=0.
1)

L1
2

Int(lInt(exp(x”2),y=0..x),x=0..1)=Int(int(exp(x"2),y=0..x), x=0.
1)

1 x 1
jjexzdyde[ exzxdx
0°0 -0

Int(Int(exp(x/y),y=sqgrt(x)..1),x=0..1)=int(int(exp(x/y),y=sqgrt
(x)..1),x=0..1);

Int(lInt(exp(x/y),x=0..y"2),y=0..1)=Int(int(exp(x/y),x=0..y"2),y=

0..1);
[

0

12X 1
J eydxdy=J (—y-l—yey) dy
0 0
Int(Int(exp(sqgrt(x"2+y”"2)),x=-sqrt(y”2-1)..sqgrt(y”*2-1)),y=-1..1)
=int (int(exp(sqgrt(x"2+y”"2)),x=-sqrt(y”2-1)..sqrt(y"2-1)),y=-1.
1)

oy oy
|| e |

R v R

NERSs dx dy



Int(Int(r*exp(r),r=0..1),theta=0..2*Pi)=int(int(r*exp(r),r=0.
.1),theta=0..2*Pi);

27 1
J [re’drdezzn
0 7o
restart:
V. =x"2/y;
2
X
—
Yy
u: =y"2/ x;
2
uzzy—
X
wi th(linalg):
jacobi an([u, v],[x,Vy]);
2
Y 2y
K X
2x X
Yy y2
det (9 ;
-3
abs( % ;
3

wi t h(student):
Int(Int(3*x*sin(y*x),y=1/2..1),x=Pi/2..Pi)=int(int(3*x*sin(y*x),
y=1/2..1),x=Pi/2..Pi);

[n Jl 3xsin(yx) dydr=-3y2 49
EL
eval f (99 ;
4.757359313 =4.757359314
Doubl ei nt (3*x*si n(y*x),y=1/2..1,x=Pi/2..Pi);

T 1
[ [ 3xsin(yx) dydx
10
2" 3
eval f (99 ;
4.757359313

Int(Int(lnt(x+y"3-z22+4,x=1..2),y=0..1),z=2..3)=int(int(int(x+



yN3-z"2+4, x=1..2),y=0..1),z=2.. 3);
312
7

Jj[(x+f—£+4huwmp-——

27071 12

_>-Int(Int(Int(l,z=sqrt(x“2+y“2)..5),y=-sqrt(25-x“2)..sqrt(25-x“2)
), X=-5..5)=int(int(int(1, z=sqrt(x"2+y~2)..5),y=-sqrt(25-x"2)..
sgrt(25-x72)),x=-5..5);

5 J25—2 5 5

1@¢wuzj (%xﬁd-st—x2+5)+5 25 2

P 2 JZi2 E

—% 2ln( 25 —x° —I—S))dx

> Int(Int(Int(l,y=-sqrt(z"2-x"2)..sqrt(z"2-x"2)),x=-2z..2z),2=0..5)=
L int(int(int(1,y=-sqrt(z"2-x"2)..sqrt(z"2-x"2)),x=-z..2),2=0..5);
> Int(Int(Int(1, v = (-(z*2-x*2)"(1/2) .. (z"2-x"2)"(1/2))), x =
(-z .. 2)), z=(0.. 5)=int(int(int(l, y = (-(z"2-x"2)"(1/2) .
. (z7h2-x"2)NM1/2))), x =(-z .. z)), z = (0 .. 5));

s. 72
[[J 1@w¢:%?n
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